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BHEERER
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% g R - KSR Bifr 2 il & B 18
EEIEE 4,261,719
HiEIE®E 33,285 + 111,150 144, 435
HBERER (R) 417,629 x 7.97% (7.97% x1.00) 33,285
Regng 450,914 x 24.65% 111,150
TER 4,261,719 + 144,435 4, 406, 154
—RERESE 562,064 x 23.57% (23.57% x 1.00) — 8,632 123, 846
e ik 4,406,154 + 123, 846 4,530, 000
E R 7,329,700 + 280, 145 7,609, 845
EEAGE 7,329, 700
EERE 280, 145
Z O fth SR f 7,329,700 x 53.85% ( 35% + (1 — 35%) ) 3,947,043
RHRIE 7,609, 845 + 3,947,043 11, 556, 888
—RERESE 11,556,888 x 53.85% ( 35% = (1 — 35%) ) — 272 6,223,112
KBS 11,556,888 + 6,223,112 17,780, 000
B EHEAE 4,530,000 + 17,780, 000 22,310, 000
HETREALE 22,310,000 x 10.00% 2,231,000
FEIZRE 24, 541,000
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£ g I - KT & BfT 8 2 B & % =

EEIEZE 4,261,719
BRI R 4,261,719
BRI R 4,261,719
BRI R 4,261,719
BRI R 4,256, 142
1-1 BRI 0y U EREE R :1/20 1.00 3, 844,090 3,844,090

=
1-2 BAERRRME 1.00 156, 944 156, 944

=
1-3 EBERER RIME 1.00 175, 571 175, 571

=
1-4 BEREREE 1.00 75, 200 75, 200

=
1-b BERBREEBE (VI ) — FRE 0.97 4,472 4,337

%) 3
no& 5,577
1-6 Wyn& 0.97 5,750 5,577

m3
EER 7,609, 845
KEBRRRIRER 7,609, 845
KB RIRER 7,609, 845
KRR RER 7,329, 700
EEREE 291,900




BHRENRE SRR L AMEA KB R T E

£ g g - BAKTE Bify H = B & % wmE
2-1 EtE#&E 1.00 291, 900 291, 900
=
Wi - e 300, 600
2-2 ERIGE 1.00 121, 800 121, 800
=
2-3 RRW|E 1.00 178, 800 178, 800
=
BREE (2) 1,616, 500
2-4 RAERBEE - BEO 1.00 860, 700 860, 700
=
2-5 BAERREE - BEQ 1.00 755, 800 755, 800
=
KRR RER 2,577,700
2-6 FHAIBEEROEATIT - RS L 1.00 573, 800 573, 800
=
2-1 RERRDRE 1.00 1,067, 500 1,067, 500
r—2
2-8 SHiRI B v I RERER 4.00 234,100 936, 400
r—2
BB 1,544, 800
2-9 fRMTIRET 1.00 291, 900 291, 900
=
2-10 FHER Y 28 4.00 146, 300 585, 200
r—2
2-11 HER DK 1.00 667, 700 667, 700
=
BE 998, 200
2-12 EHTRREER 1.00 998, 200 998, 200
=
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% # % - Bk B % B B ¢ = S

EERE 280, 145

EERARE 35, 145

2-13 EXERARE 1.00 35, 145 35,145
=

[5Z] 200, 000

2-14 X¥BEBRSE 1.00 200, 000 200, 000
=

HEIREE 45,000

2-15 WEIREE 1.00 45,000 45,000
=
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E5 11
W EEIOy o EREE 14y
2 b g - BIRTE By = B ) W = " =
HEIOwHEREE btH, 8t
= 1.00 3, 844,090. 00 3, 844,090
& Hi 1YE%HeRH 1,00 3, 844,090. 00 3, 844,090
5:1-2
£ RAFEIIRE 14y
2 b g - BIRTE By = B ) W E " =
KT
A 3.00 24,100. 00 72, 300
BET
A 1.00 23, 000. 00 23, 000
LEEXS
A 3.00 18, 800. 00 56, 400
BASENAEMHE
= 1.00 5,244.00 5,244
& Hi 1E%HeH - 1.00K 156, 944. 00 156, 944
E5 .13
£ F5  BEKEIRME 14y
2 b g - BIRTE By = B ) W E " =
LEEXS
A 6. 00 18, 800. 00 112, 800
=)
A 2.00 22,000. 00 44,000
BRKRED AR &
= 1.00 18,771.00 18, 771
& Hi 1E%Heh - 1.00K 175,571.00 175, 571
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&S :1-4
£ BREREREBE XY
% [} I - BIKTE B = B %8 & " %
TEEXR
A 4.00 18, 800. 00 75, 200
& i EZBER - 1. 00 75, 200. 00 75, 200
&S :1-5
&% BEREEEE (229 ) — FRRER) m3L Y
% [} I - BIKTE B = B %8 & " %
BERBRREEE (9 ) — FERERR)
m3 1.00 4,472 4,472
& &t {E%8EH : 1.00m3 4,472 4,472
&S :1-6
2 WMHE m3L Y
% [} I - BIKTE Bifg = B %8 i) " %
noE avoy—kEk (EH)
m3 1.00 5, 750. 00 5, 750
& B {EZBEA - 1.00m3 5, 750. 00 5, 750
&5 2-1
£ FTEEE XY
% [} I - BIKTiE Bifg = B %8 i) " %
E2EETHE H)) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 1.50 57, 000. 00 85, 500
HEm (B) B
A 3.00 47, 200. 00 141, 600
& Hi 1EZBER - 1.00 291, 900. 00 291, 900
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&5 :2-2
¥ BATHE HEED)
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 1.00 57,000. 00 57,000
& Hi 1YEZHEH - 1.00[E 121, 800. 00 121, 800
&5 :2-3
£ EW|E HEED)
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 2.00 57, 000. 00 114, 000
& Hi 1YEZHER - 1.00[E 178, 800. 00 178, 800
&5 :2-4
& RAEEREE - BEO 1LY
2 b g - BIRTE By = BHO(f %8 # " =
HEm (A) B
A 1.50 57, 000. 00 85, 500
HEm (B) B
A 3.00 47, 200. 00 141, 600
HEm (C) B
A 6. 00 38, 400. 00 230, 400
g B
A 12.00 33, 600. 00 403, 200
& B 1E%Heh - 1.00K 860, 700. 00 860, 700
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&5 :2-5
& RAEHEREE - BEQ 1LY
2 b g - BIRTE By = BHO(f %8 # " =
HEm (A) B
A 1.00 57,000. 00 57,000
HEm (B) B
A 2.50 47, 200. 00 118, 000
HEm (C) B
A 5.50 38, 400. 00 211,200
g B
A 11.00 33, 600. 00 369, 600
& B 1YE%HeH - 1.00K 755, 800. 00 755, 800
&5 :2-6
ZF5 : FHRIBEEROERAT - RS L 1LY
2 b g - BIRTE By = BHO(f %8 # " =
HEm (A) B
A 1.00 57, 000. 00 57,000
HEm (B) B
A 2.00 47, 200. 00 94, 400
HEm (C) B
A 4.00 38, 400. 00 153, 600
g B
A 8.00 33, 600. 00 268, 800
& B 1E%HeH - 1.00K 573, 800. 00 573, 800
&5 :2-1
£F  RERKOBE 1r—2%Y
2 b g - BIRTE By = BHoO(f %8 # " =
HEm (A) B
A 3.50 57, 000. 00 199, 500
HEm (B) B
A 7.00 47, 200. 00 330, 400
HEm (C) B
A 14.00 38, 400. 00 537, 600
& Hi YEZEREDN 1,005 —R 1,067, 500. 00 1,067, 500
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&5 :2-8
£ HEIOY I REERR 1r—2%Y
2 b g - BIRTE By = BHO(f %8 # " =
HEm (A) B
A 0.50 57,000. 00 28, 500
HEm (B) B
A 1.00 47, 200. 00 47,200
HEm (C) B
A 1.50 38, 400. 00 57, 600
g B
A 3.00 33, 600. 00 100, 800
& B YEZEREDN 1,005 —R 234, 100. 00 234,100
&5 :2-9
¥ TRt 1LY
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET) B
A 1.00 64, 800. 00 64, 800
HEm (A) B
A 1.50 57, 000. 00 85, 500
HEm (B) B
A 3.00 47, 200. 00 141, 600
& Hi 1E%HeH - 1.00K 291, 900. 00 291,900
= :2-10
75 B BEE 1r—24Y
2 b g - BIRTE By = BHoO(f %8 # " =
HEm (A) B
A 0.30 57, 000. 00 17,100
HEm (B) B
A 0.50 47, 200. 00 23, 600
HEm (C) B
A 1.00 38, 400. 00 38, 400
g B
A 2.00 33, 600. 00 67,200
& B YEZEREDN 1,005 —R 146, 300. 00 146, 300
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&5 : 2-11
% BHRO®E 1LY
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET) B
A 1.50 64, 800. 00 97,200
HEm (A) B
A 2.50 57,000. 00 142, 500
HEm (B) B
A 5.00 47, 200. 00 236, 000
HEm (C) B
A 5.00 38, 400. 00 192, 000
& Hi 1YE%HeH - 1.00K 667, 700. 00 667, 700
5 :2-12
£ EHBTERBEEER 1LY
2 b g - BIRTE By = B O ® # " =
HEm (A) B
A 7.00 57, 000. 00 399, 000
HEm (B) B
A 7.00 47, 200. 00 330, 400
HEm (C) B
A 7.00 38, 400. 00 268, 800
& Hi 1E%HeH - 1.00K 998, 200. 00 998, 200
&5 :2-13
&% EHARE 1LY
2 b g - BIRTE By = B Ol ® # " =
EXERARE
= 1.00 35, 145. 00 35, 145
& Hi 1E%Heh - 1.00K 35, 145. 00 35, 145
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&5 :2-14
2% EBHRRE 1LY
2 b g - BIRTE By = B O %8 W = " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1YE%HeRH 1,00 200, 000. 00 200, 000
&5 :2-15
L BIREE 1LY
2 b g - BIRTE By = B O 25 W E " =
EIREE
= 1.00 45, 000. 00 45, 000
& Hi 1E%HeH - 1.00K 45, 000. 00 45, 000




